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) Calculate the perimeter of the square.

- 6 cm 24 cm

2)  How many metres are there in 5 kilometres? 5,000 m
3)  Subtract 450 from 3,000 2,550

4)  How many sides does a hexagon have? 6 sides
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) Multiply 72 by 10 720

2)  Calculate the perimeter of the rectangle.
1om
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24 cm

3)  Find the difference between 2,800 and 1,300

Y)  Calculate one third of I8 6
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Find the product of 100 and 34 3,400

Find the perimeter of /m

the rectangle. 2m

3)  Decrease 4,320 by SH 4,266

Y)  Write 25 in tally marks. I B
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Divide 930 by IO 93

The perimeter of the rectangle

is 24 cm.

Work out the unknown length.

Werite an addition to check the answer to

720 — 189 = 53l 53l + 189 = 720 or 189 + 33l = 720

How many thousands are there in 4,992 Y thousands
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D Calculate 8,H00 = 100 84

2)  Find the perimeter of the shape.
H6 cm

3) 3000 —672=2999— 6/

HY)  Whrite 82 in Roman Numerals  LXXXII
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What is the missing number?

QX _| =194

Multiply 10 by 38 380

How many metres are there in 8 kilometres? 8,000 metres

Annie walks for 2 hours every day for | week.

Ron walks for 3 hours every day for S days.

Who walks for longer? Ron walks for | hour longer.
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Calculate the product of 2and O O

Divide 3,900 by IO0 39

Draw a rectangle with a perimeter of 12 cm.

5 cm Hem

Possible

| em 2 cm

answers

4)  Calculate 3,923 + 94 4,864
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Compare using <, > or =

3x1 (=) 340

340 children are divided into 10 equal groups.

How many children are in each group? 34

A square has a perimeter of 32 cm.
What is the length of one side? 8 cm

Y)  Subtract 520 from 9,780 9,260




F 1 Ad's h baic k y Year4 Week 10 Day 4

Multiply 6 by 3 18

A racetrack is 3 kilometres long.

A car does |00 laps of the track.

How many kilometres does the car travel? 300 km

A rectangle is 8 cm long and S cm wide.
What is the perimeter of the rectangle? 26 cm

4Y)  Round 352 to the nearest I0 350
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Complete the missing number.

3 X8 =6X14H

Calculate the product of land O O

One lap of a field is 2 kilometres.
Dexter walks 3 laps of the field.

How many metres does he walk altogether? 6,000 m

4Y)  Round 352 to the nearest I00 400
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) Divide 72by 6 |2

2) Find the missing number.
2X_| =240

3)  How many centimetres are there in 32 metres? 3,200 cm

Y)  Caleulate 90 + 834 924
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) Which of the numbers are multiples of 9?

8)

2)  Complete the missing numbers.

3X H=6X 2 =12xXI

3) Y em=_21  mm

4) 7492 = 7,000
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How many groups of 9 are in H9? 5
Multiply 6 by 6 36

The length of a rectangle is 10 cm.
It's perimeter is 28 cm.

What is the width of the rectangle? Y cm

4Y)  Round 3,492 to the nearest thousand. 3,000
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- 5 X 7

There are / players on a netball team.

How many players are there on Y netball teams? 28 players

Compare using < , > or =

3% 1(>) 6x0

Calculate the total of 3 metres and 800 centimetres.

Give your answer in metres. |l metfres

Y)  What is 155 more than 920? 1,075
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Complete the missing number.

9+ 7 =7

Calculate 6 multiplied by I0 60

On Saturday, Rosie walks S kilometres.

On Sunday, Rosie walks 2,000 metres.

How much further did she walk on Saturday than Sunday?
3,000 metres or 3 kilometres

4)  Write 32 in Roman Numerals. XXX




